Bid Rfq 171598 Auction 17-26-01Misc. Refrigerated Frozen, Dry Staple Title Foods, Disposable Products for SNS

Auction ACTIVE LINE Status

8PS-Failed to provide product sample 1NL-Not low when unit price calculated

Ln #	Award	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
2	(Y/N) 2 Y		CRISP-UP, CINNAMON TOAST & MAPLE CHICKEN SAUSAGE, WHOLE GRAIN, IW, MUST CONTRIBUTE 1M/MA & 1 GRAIN (CASE)	1,000	CS	GOODMAN FOOD PRODUCTS	81.26	
						GOLD STAR FOODS	85.69	85,690.00
3	3 Y		DOUGH, SUB ROLL, WG, PROOF & BAKE. MUST CONTRIBUTE 2 OZ GRAIN. RICHS ITEM # 11782 OR SIMILAR	200 C:	cs	BRIDGFORD MARKETING COMPANY	29.15	5,830.00
						RICH PRODUCTS CORPORATION	51.14	10,228.00
						*BRAUN BEEF CO INC		
						GOLD STAR FOODS	54.09	10,818.00
4	Y		FRANK, ALL BEEF, MUST CONTRIBUTE 2M/MA, LESS THAN 400MG	1,000	CS	GOLD STAR FOODS	37.13	37,130.00

8PS-Failed to provide product sample 1NL-Not low when unit price calculated

Ln #	Award (Y/N)	Reason	Item Description	Quantity	иом	Supplier		Extended Price
						*BRAUN BEEF CO INC		
						TYSON PREPARED FOODS INC	42.77	42,770.00
						*THE MASTERS DISTRIBUTION SYSTEMS		
						*CHURCHFIELD TRADING COMPANY		
5	S N	8PS	PITA POCKET BREAD 6", WHOLE GRAIN RICH, MUST CONTRIBUTE AT LEAST 2 G PER SERVING	100	cs	*THE MASTERS DISTRIBUTION SYSTEMS		
	Y					GOLD STAR FOODS	40.73	4,073.00
6	S N	8PS	SAUSAGE ROLL, BREAKFAST, IW, 2 OZ, SMOKED CHICKEN AND BEEF KNOCKWURST WRAPPED IN 51% WHOLE GRAIN DOUGH AND BAKED. NO PORK	1,500	cs	LECHI FOOD CORPORATION	32.00	48,000.00

8PS-Failed to provide product sample 1NL-Not low when unit price calculated

Ln #	Award (Y/N)	Reason	Item Description	Quantity	иом	Supplier	Price	Extended Price
	Y					RAMAIN INC	42.85	64,275.00
	Y-ALT					GOLD STAR FOODS	96.92	145,380.00
7	N	1NL	(USDA-P) BEEF SAUSAGE BREAKFAST BISCUIT SANDWICH, WHOLE GRAIN RICH, IW, MUST CREDIT AT LEAST 1 WGR 1 M/MA. LESS THAN 3 MG SODIUM	1,800	cs	*THE MASTERS DISTRIBUTION SYSTEMS		
	Y					GOODMAN FOOD PRODUCTS	116.06	208,908.00
8	Y		RASPBERRY SWIRL ROLL, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 2.70Z, 2 GRAIN EQUIVALENT	1,500	cs	*BRAUN BEEF CO INC		
						GOLD STAR FOODS	21.23	31,845.00
9	N	1NL	HONEY DIP GLAZE. TO PROVIDE GLOSSY SHINE AND GOOD CLARITY. 24# PAIL.	250	PL	GOLD STAR FOODS	27.08	6,770.00

8PS-Failed to provide product sample 1NL-Not low when unit price calculated

Ln#	Award (Y/N)	Reason	Item Description	Quantity	иом	Supplier	Price	Extended Price
	Y					RICH PRODUCTS CORPORATION	50.58	12,645.00
						*BRAUN BEEF CO INC		
11	I Y		SEASONING, HONEY BARBECUE, NO SALT, NO SUGAR, NO MSG, 6/19.2 OZ/CS, CHEF PAUL SEASONING BLEND OR EQUAL	80	cs	GOLD STAR FOODS	39.42	3,153.60
						*THE MASTERS DISTRIBUTION SYSTEMS	40.18	3,214.40